Korean J. Math. **26** (2018), No. 1, pp. 143–153 https://doi.org/10.11568/kjm.2018.26.1.143

ON 0-MINIMAL (m, n)-IDEAL IN AN LA-SEMIGROUP

Thiti Gaketem

ABSTRACT. In this paper, we define 0-minimal (m, n)-ideals in an LA-semigroup S and prove that if R(L) is a 0-minimal right (left) ideal of S, then either $R^m L^n = \{0\}$ or $R^m L^n$ is a 0-minimal (m, n)-ideal of S for $m, n \geq 3$.

1. Introduction

The concept of an left almost semigroup (LA-semigroup) [5] were first given by M. A. Kazim and M. Naseeruddin in 1972. An LAsemigroup is a useful algebraic structure, midway between a groupoid and a commutative semigroup. An LA-semigroup is non-associative and non-commutative in general, however, there is a close relationship with semigroup as well as with commutative structures.

DEFINITION 1.1. [1, p.2188] A groupoid (S, \cdot) is called an *LA-semigroup* or an *AG-groupoid*, if it satisfies left invertive law

$$(a \cdot b) \cdot c = (c \cdot b) \cdot a$$
, for all $a, b, c \in S$.

LEMMA 1.2. [5, p.1] In an LA-semigroup S it satisfies the medial law if

 $(ab)(cd) = (ac)(bd), \text{ for all } a, b, c, d \in S.$

Received October 13, 2017. Revised March 15, 2018. Accepted March 20, 2018. 2010 Mathematics Subject Classification: 16Y60, 08A72, 03G25, 03E72.

Key words and phrases: LA-semigroup, ideal, 0-minimal (m, n)-ideal , (m, n)-regular.

This works was supported by School of Science, University of Phayao grant.

[©] The Kangwon-Kyungki Mathematical Society, 2018.

This is an Open Access article distributed under the terms of the Creative commons Attribution Non-Commercial License (http://creativecommons.org/licenses/by -nc/3.0/) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

DEFINITION 1.3. [12, p.1759] An element $e \in S$ is called *left identity* if ea = a for all $a \in S$.

LEMMA 1.4. [1, p.2188] If S is an LA-semigroup with left identity, then

 $a(bc) = b(ac), \text{ for all } a, b, c \in S.$

LEMMA 1.5. [5, p.1] An LA-semigroup S with left identity it satisfies the paramedial if

 $(ab)(cd) = (dc)(ba), \text{ for all } a, b, c, d \in S.$

DEFINITION 1.6. [1, p.2188] An LA-semigroup S is called a *locally* associative LA-semigroup if it satisfies

 $(aa)a = a(aa), \text{ for all } a \in S.$

THEOREM 1.7. [1, p.2188] Let S be a locally associative LA-semigroup then $a^1 = a$ and $a^{n+1} = a^n a$, for $n \ge 1$; for all $a \in S$.

THEOREM 1.8. [1, p.2188] Let S be a locally associative LA-semigroup with left identity then $a^m a^n = a^{m+n}$, $(a^m)^n = a^{mn}$ and $(ab)^n = a^n b^n$, for all $a, b \in S$ and m, n are positive integer.

THEOREM 1.9. [1, p.2188] If A and B are any subsets of a locally associative LA-semigroup S then $(AB)^n = A^n B^n$, for $n \ge 1$.

DEFINITION 1.10. Let S be an LA-semigroup. A non-empty subset A of S is called an LA-subsemigroup of S if $AA \subseteq A$.

DEFINITION 1.11. [4, p.2] A non-empty subset A of an LA-semigroup S is called a *left (right) ideal* of S if $SA \subseteq A(AS \subseteq S)$. As usual A is called an *ideal* if it is both left and right ideal.

DEFINITION 1.12. [9, p.1] An LA-semigroup S is called regular if for each $a \in S$ there exists $x \in S$ such that a = (ax)a.

The concept of on (m, n)-regular semigroup of a semigroup was introduced by Dragica N. Krgovic in 1975 [8].

DEFINITION 1.13. [8, p.107] Let S be a semigroup, m and n are positive integers. We say that S is called an (m, n)-regular if for every element $a \in S$ there exists an $x \in S$ such that $a = a^m x a^n$ (a^0 is defined as an operator element, so that $a^0 x = x a^0 = x$).

The concept of an (m, n)-ideal and principal (m, n)-ideals in semigroup was first introduced by S. Lajos in 1961.

DEFINITION 1.14. [8, p.107] A non-empty subset A of a semigroup S is called an (m, n)-*ideal* if A satisfies of relation

$$A^m S A^n \subseteq A$$

where m, n are non-negative integers.

DEFINITION 1.15. The principal (m, n)-ideal, generated by the element a, is

$$[a]_{(m,n)} = \bigcup_{i=1}^{m+n} \{a^i\} \cup a^m S a^n.$$

The concept of an (m, n)-ideal in LA-semigroup were first introduced by M. Akram, N.Yaqoob and M.Khan [1] in 2013.

DEFINITION 1.16. [8, p.107] A non-empty subset A of an LA-semigroup S is called an (m, 0)-*ideal*(0, n-*ideal*) if $A^m S \subseteq A(SA^n \subseteq A)$, for $m, n \in \mathbb{N}$.

DEFINITION 1.17. [8, p.107] Let S be an LA-semigroup. An LAsubsemigroup A of S is called an (m, n)-*ideal* of S, if A satisfies the condition

$$(A^m S)A^n \subseteq A$$

where m, n are non-negative integers (A^m is suppressed if m = 0).

The concept of minimal ideal of LA-semigroups were first introduced by M. Khan, KP. Shum and M. Faisal Iqba [6] in 2013.

DEFINITION 1.18. [6, p.123] Let S be an LA-semigroup and I is an ideal of S. S is said to be *minimal left (right) ideal* of S if I does not contain any other left (right) ideal other than it self.

DEFINITION 1.19. [6, p.123] Let S be an LA-semigroup and I is an ideal of S. S is said to (m, n)-minimal ideal of S if it is minimal in the set of all nonzero ideal of S.

2. Main Results

In this section, we characterize an LA -semigroup with left identity in terms of (m, n)-ideals with the assumption that $m, n \ge 3$. If we take $m, n \ge 2$, then all the results of this section can be trivially followed for a locally associative LA -semigroup with left identity.

LEMMA 2.1. Let S be a locally associative a unitary LA-semigroup and A is subset of S. Then $A^m = A^{m-1}A$ and $A^mA^n = A^{m+n}$ where m, n is positive integer.

Proof. Let $a \in A^m$. By Definition 1.8, we have

$$a = a^m = a^{m-1}a \in A^{m-1}A.$$

Thus $A^m \subseteq A^{m-1}A$. Let $a \in A^{m-1}A$. By Definition 1.8, we have

$$a = a^{m-1}a = a^m \in A^m.$$

Thus $A^{m-1}A \subseteq A^m$. Hence $A^m = A^{m-1}A$.

To show that $A^m A^n = A^{m+n}$, let $a \in A^m A^n$. By Theorem 1.7, we have

$$a = a^m a^n = a^{m+n} \in A^{m+n}.$$

Thus $A^m A^n \subseteq A^{m+n}$. Let $a \in A^{m+n}$. By Theorem 1.7, we have

$$a = a^{m+n} = a^m a^n \in A^m A^n.$$

Thus $A^{m+n} \subseteq A^n$. Hence $A^m A^n = A^{m+n}$

LEMMA 2.2. Let S be a locally associative a unitary LA-semigroup and A is (m, n)-ideal of S. Then $SA^m = A^mS$ and $A^mA^n = A^nA^m$ for $m, n \leq 3$.

Proof. First step we show that $SA^m = A^m S$. Now

$$SA^m = (SS)(A^{m-1}A) = (AA^{m-1})(SS),$$
 by Lemma 1.5
= $A^m(SS) = A^mS.$

Hence $SA^m = A^m S$. Finally we show that $A^m A^n = A^n A^m$.

$$A^{m}A^{n} = (A^{m-1}A)(A^{n-1}A)$$
 by Lemma 2.1
= $(AA^{n-1})(AA^{m-1})$ by Lemma 1.5
= $A^{n}A^{m}$

LEMMA 2.3. Let S be a locally a unitary LA-semigroup. If R and L are the right and left ideals of S respectively; then RL is an (m, n)-ideal of S.

146

Proof. Let R and L be the right and left ideals of S respectively, then

$$\begin{aligned} (((RL)^{m}S)(RL)^{n} &= ((R^{m}L^{m})S)(R^{n}L^{n}) = ((R^{m}L^{m})R^{n})(SL^{n}) \\ &= ((L^{m}R^{m})R^{n})(SL^{n}) = ((R^{n}R^{m})L^{m}(SL^{n}) \\ &= ((R^{m}R^{n})L^{m})(SL^{n}) = (R^{m+n}L^{m})(SL^{n}) \\ &= S((R^{m+n}L^{m})L^{n}) = S((L^{n}L^{m})R^{m+n}) \\ &= (SS)((L^{n}L^{m})R^{m+n} = (SS)((L^{m}L^{n})R^{m+n}) \\ &= (SS)(L^{m+n}R^{m+n}) = (SL^{m+n})(SR^{m+n}) \\ &= (R^{m+n}S)(L^{m+n}S) = (SR^{m+n})(SL^{m+n}) \end{aligned}$$

and

$$\begin{split} (SR^{m+n})(SL^{m+n}) &= (SR^{m+n-1}R)(SL^{m+n-1}L) \\ &= [S((R^{m+n-2}R)R][S((L^{m+n-2}L)L)] \\ &= [S((RR)R^{m+n-2})][S((LL)L^{m+n-2})] \\ &= [(SS)(RR^{m+n-2})][(SS)(LL^{m+n-2})] \\ &= [(SR)(SR^{m+n-2})][(SL)(SL^{m+n-2})] \\ &= [(R^{m+n-2}S)R][(SL)(SL^{m+n-2})] \\ &= [(RS)R^{m+n-2}][(SL)(SL^{m+n-2})] \\ &= [(RS)R^{m+n-2}][L(SL^{m+n-2})] \\ &= [(RS)R^{m+n-2}][S(LL^{m+n-2})] \\ &= [(RS)R^{m+n-2}](SL^{m+n-1}) \\ &= (RR^{m+n-2})(SL^{m+n-1}) \\ &\subseteq (SR^{m+n-2})(SL^{m+n-1}) \end{split}$$

Therefore

$$((RL)^m S)(RL)^n = (SR^{m+n})(SL^{m+n}) \subseteq (SR^{m+n-2})(SL^{m+n-1}) \subseteq \cdots \subseteq (SR)(SL)$$
$$\subseteq ((SS)R)L = (SR)L = (RL).$$

And also

$$(RL)(RL) = (LR)(LR) = ((LR)R)L = ((RR)L)L \subseteq ((RS)S)L \subseteq ((RS)L \subseteq RL.$$

This show that RL is an (m, n) -ideal of S .

Next we will definition and study of properties of define 0-minimal (m, n)-ideal in an LA-semigroup is define the same as an define 0-minimal (m, n)-ideal in a semigroup.

DEFINITION 2.4. An LA-semigroup S with zero is said to be *nilpotent* if $S^{l} = 0$ for some positive integer l.

DEFINITION 2.5. [6, p.123] Let S be an LA-semigroup and I is an ideal of S. S is said to 0-minimal (m, n)-ideal of S if it is minimal in the set of all nonzero. Equivalently, J is 0-minimal (m, n)-ideal of S and $J \subseteq I$ implies $J = \{0\}$ and J = I. ideal of S.

Now we will study properties of 0-minimal (m, n)-ideal of LA-semigroups.

THEOREM 2.6. Let S be an LA-semigroup with zero 0. Assume that S contains no non-zero nilpotent (m, n)-ideals. If R (respectively, L) is a 0-minimal right (respectively, left) ideal of S, then $RL = \{0\}$ or RL is a 0-minimal (m, n)-ideal of S.

Proof. Assume that R (respectively, L) is a 0-minimal right (respectively, left) ideal of S such that $RL \neq \{0\}$. By Lemma 2.3, we have RL is an (m, n)-ideal of S.

Now we show that RL is a 0-minimal (m, n)-ideal of S. Let $\{0\} \neq M \subseteq RL$ be an (m, n)-ideal of S. Note that since $RL \subseteq R \cap L$, we have $M \subseteq R \cap L$. Hence $M \subseteq R$ and $M \subseteq L$. By hypothesis, $M^m \neq \{0\}$ and $M^n \neq \{0\}$. Since $\{0\} \neq SM^m = M^mS$, therefore

$$\{0\} \neq M^m S \subseteq R^m S$$

$$= (R^{m-1}R)S \qquad \text{by Lemma 2.1}$$

$$= (SR)R^{m-1} \qquad \text{by left invertive law}$$

$$= ((SS)R)R^{m-1} \qquad \text{by } R \subseteq S$$

$$= (SR)R^{m-1} \qquad \text{by } S = SS$$

$$= (SR)(R^{m-2}R) \qquad \text{by Lemma 2.1}$$

$$= (RR^{m-2})(RS) \qquad \text{by Lemma 1.5}$$

$$\subseteq (RR^{m-2})R \qquad \text{by } R \text{ is right ideal of } S$$

$$= R^{m-2+1+1} = R^m \qquad \text{by Lemma 2.1}$$

and

therefore $\{0\} \neq M^m S \subseteq R^m \subseteq R^{m-1} \subseteq \ldots R$. Then $M^S \subseteq R \subseteq S$ so $M^m S$ is a right ideal of S. Thus $M^m S = R$, since R is 0-minimal ideal. Also

$$\{0\} \neq SM^n \subseteq \{0\} \neq SL^n = S(L^{n-1}L) = L^{n-1}(SL) \subseteq L^{n-1}L = L^n$$

and

$$\begin{split} L^n &= LL^{n-1} \subseteq (SL)L^{n-1} = (L^{m-1}L)S \\ &= L^m S = SL^n = (SS)L^n \\ &= (SS)(LL^{n-1}) = (L^{n-1}L)(SS) = (L^{n-1}L)S \\ &= ((L^{n-2}L)L)S = (SL)(L^{n-2}L) \subseteq L(L^{n-2}L) \\ &= L^{n-2}(LL) \subseteq L^{n-2}L = L^{n-1} \subseteq \dots \subseteq L, \end{split}$$

therefore $\{0\} \neq SM^n \subseteq L^n \subseteq L^{n-1} \subseteq \cdots \subseteq L$. Then $SM^n = \subseteq L \subseteq S$ so SM^n is a left ideal of S. Thus $SM^n = L$, since L is 0-minimal. Therefore

$$M \subseteq RL = (M^{m}S)(SM^{n}) = (M^{n}S)(SM^{m}) = ((SM^{m})S)M^{n} = ((SM^{m})(SS))M^{n} = ((SS)(M^{m}S)M^{n} = (S(M^{m}S))M^{n} = (M^{m}(SS))M^{n} = (M^{m}S)M^{n} \subseteq M$$

Thus M = RL which means that RL is a 0-minimal (m, n)-ideal of S.

THEOREM 2.7. Let S be a unitary LA-semigroup. If R(L) is a 0-minimal right (left) ideal of S, then either $R^m L^n = \{0\}$ or $R^m L^n$ is a 0-minimal (m, n)-ideal of S.

Proof. Assume that R(L) is a 0-minimal right (left) ideal of S such that $R^m L^n \neq \{0\}$, then $R^m \neq \{0\}$ and $L^n \neq \{0\}$. Hence $\{0\} \neq R^m \subseteq R$ and $\{0\} \neq L^n \subseteq L$, which shows that $R^m = R$ and $L^n = L$. Since R(L) is a 0-minimal right (left) ideal of S. Thus by Theorem2.6, $R^m L^n = RL$ is an (m, n)-ideal of S. Now we show that $R^m L^n$ is a 0-minimal (m, n)-ideal of S. Let $\{0\} \neq M \subseteq R^m L^n = RL \subseteq R \cap L$ be an (m, n)-ideal of S. Hence $\{0\} \neq SM^2 = (MM)(SS) = (MS)(MS) \subseteq (RS)(RS) \subseteq R$ and $\{0\} \neq SM \subseteq SL \subseteq L$. Thus

$$R = SM^2 = M^2S = (MM)(SS) = (MS)(MS) \subseteq (RS)(RS) \subseteq R$$

and $\{0\} \neq SM \subseteq SL \subseteq L$. Thus

$$R = SM^2 = M^2S = (MM)S = (SM)M \subseteq (SS)M = SM$$

and SM = L since R(L) is a 0-minimal right (left) ideal of S. Therefore

$$M \subseteq R^m L^n \subseteq (SM)^m (SM)^n = (S^m M^m) (S^n M^n)$$

= $(S^m S^n) (M^m M^n) = (SS) (M^m M^n) \subseteq (M^n M^m) (SS)$
= $(M^n M^m) S = (SM^m) M^n = (M^m S) M^n \subseteq M.$

Thus $M = R^m L^n$, which shows that $R^m L^n$ is a 0-minimal (m, n)-ideal of S.

THEOREM 2.8. Let S be a locally associative LA-semigroup with left identity. Assume that A is an (m, n)-ideal of S and B is an (m, n)-ideal of A such that B is idempotent. Then B is an (m, n)-ideal of S.

Proof. Since B is an (m, n)-ideal of A and A is an (m, n)-ideal of S we have B is an LA-subsemigroup of S. Now we show that B is an (m, n)-ideal of S, since A is an (m, n)-ideal of S and B is an (m, n)-ideal of A. Then

$$(B^{m}S)B^{n} = ((B^{m}B^{m})S)(B^{n}B^{n}) = (B^{n}B^{n})(S(B^{m}B^{m}))$$

$$= [((S(B^{m}B^{m})B^{n}))]B^{n} = [(B^{n}(B^{m}B^{m})S]B^{n}$$

$$= [(B^{n}(B^{m}B^{m})(SS)]B^{n} = [(B^{m}(B^{n}B^{m})(SS)]B^{n}$$

$$= [(SS)(B^{n}B^{m})B^{m}]B^{n} = [S(B^{n}B^{m})B^{m}]B^{n}$$

$$= [S(B^{n}B^{m})(B^{m-1}B)]B^{n} = [S(B^{m-1})(B^{m}B^{n})]B^{n}$$

$$= [(SS)(B^{m})(B^{m}B^{n})]B^{n} = [B^{m}((SS)(B^{m}B^{n}))]B^{n}$$

$$= [B^{m}((B^{n}B^{m})(SS))]B^{n} = [B^{m}((SS)(B^{m-1}B))B^{n}]B^{n}$$

$$= [B^{m}((BB^{m-1})(SS))B^{n}]B^{n} = [B^{m}(B^{m}S)B^{n}]B^{n}$$

$$= [B^{m}(A^{m}S)A^{n}]B^{n} \subseteq (B^{m}A)B^{n} \subseteq B.$$

This show that B is an (m, n)-ideal of S.

Next following we will study basic properties of 0-minimal (m, n)-ideal for regular ordered LA-semigroups.

THEOREM 2.9. Let S be an (m, n)-regular a unitary LA-semigroup. If M(N) is a 0-minimal (m, 0)- ideal ((0, n)-ideal) of S such that $MN \subset M \cap N$, then either $MN = \{0\}$ or MN is a 0-minimal (m, n)-ideal of S.

Proof. Let M(N) be a 0-minimal (m, 0)-ideal ((0, n)-ideal) of S. Let O := MN, then clearly $O^2 \subseteq O$. Moreover

$$(O^m S)O^n = ((MN)^m S)(MN)^n = ((M^m N^m)S)(M^n N^n) \subseteq ((M^m S)S)(SN^n) \\ = ((SS)M^m)(SN^n) = (SM^m)(SN^n) = (M^m S)(SN^n) \subseteq MN = O,$$

which shows that O is an (m, n)-ideal of S Let $\{0\} = P \subseteq O$ be a non-zero (m, n)-ideal of S. Since S is (m, n)-regular, we have

$$\{0\} \neq P = (P^m S)P^n = ((P^m (SS)))P^n = (S(P^m S))P^n = (P^n (P^m S))S = (P^n (P^m S))(SS) = (P^n S)((P^m S)S) = (P^n S)((SS)P^m) = (P^n S)(SP^m) = (P^m S)(SP^n)$$

Hence $P^m S \neq \{0\}$ and $SP^n \neq \{0\}$. Further $P \subseteq O = MN \subseteq M \cap N$ implies that $P \subseteq M$ and $P \subseteq N$. Therefore $\{0\} \neq P^m S \subseteq M^m S \subseteq M$ which shows that $P^m S = M$ since M is 0-minimal (m, 0)-ideal ((0, n)ideal). Likewise, we can show that $SP^n = N$. Thus we have

$$P \subseteq O = MN = (P^m S)(SP^n) = (P^n S)(SP^m) = ((SP^m)S)P^n = ((SP^m)(SS))P^n = ((SS)(P^m S))P^n = (S(P^m S)P^n = (P^m(SS))P^n = (P^m S)P^n \subseteq P.$$

This means that P = MN and hence MN is 0-minimal (m, n)-ideal of S

THEOREM 2.10. Let S be an (m, n)-regular a unitary LA-semigroup. If M(N) is a 0-minimal (m, 0)-ideal ((0, n)-ideal) of S, then either $M \cap N = \{0\}$ or $M \cap N$ is a 0-minimal (m, n)-ideal of S.

Proof. Since $M \cap N \subseteq M$ and $M \cap N \subseteq N$, we have $(M \cap N)(M \cap N) \subseteq M \cap N$. Then

$$(M \cap N)^m S)(M \cap N)^n \subseteq (M^m S)M^n \subseteq MM^n \subseteq M,$$

$$((M \cap N)^m S)(M \cap N)^n \subseteq (N^m S)N^n \subseteq N^m N \subseteq N.$$

Hence $((M \cap N)^m S)(M \cap N)^n \subseteq M \cap N$. Therefore $M \cap N$ is an (m, n)ideal of S. Let $O := M \cap N$, then it is easy to see that $O^2 \subseteq O$. Moreover $(O^m S)O^n \subseteq (M^m S)N^n \subseteq MN^n \subseteq SN^n \subseteq N$. But, we also have

$$(O^m S)O^n \subseteq (M^m S)N^n = (M^m (SS))N^n = (S(M^m S))N^n$$

= $(N^n (M^m S))S = (M^m (N^n S))(SS) = (M^m S)((N^n S)S)$
= $(M^m S)((SS)N^n) = (M^m S)(SN^n) = (M^m S)(N^n S)$
= $N^n ((M^m S)S) = N^n ((SS)M^m) = N^n (SM^m)$
= $N^n (M^m S) = M^m (N^n S) = M^m (SN^n)$
 $\subseteq M^m N^n \subseteq M^m S \subseteq M.$

Thus $(O^m S)O^n \subseteq M \cap N = O$ and therefore O is an (m, n)-ideal of S.

References

- M. Akram, N. Yaqoob and M. Khan, On (m, n)-ideals in LA-semigroups, Applied Mathematical Science 7 (2013), 2187–2191.
- [2] V. Amjad, K. Hila and F. Yousafzai, Generalized hyperideals in locally associative left almost semihypergroups, New York Journal of Mathematics 20 (2014) 1063– 1076.
- [3] M. Gulistan, N. Yaqoob and M. Shahzad, A note on Hv-LA-semigroups, University Politehnica of Bucharest Scientic Bulletin-Series A-Applied Mathematics and Physics 77 (3) (2015) 93–106.
- M. Khan, V. Amjid and Faisal, Ideals in intra-regular left almost semigroups arXiv:1012.5598v1 [math.GR], (2010), 1–10.
- [5] M. Khan, Faisal and V. Amjid, On some classes of Abel-Grassmann's groupoids, arXiv:1010.5965v2 [math.GR], 2(2010), 1–6.
- [6] M. Khan, KP. Shum and M. Faisal Iqbal, *Minimal ideal of Abel-Grassmann Groupoids*, International Journal of Pure and Applied Mathematics 83 (2013) 121–135.
- [7] W. Khan, F. Yousafzai, and M. Khan, On generalized ideals of left almost semigroups, European Journal of Pure and Applied Mathematics. 9, 277–291.
- [8] D.N. Krgovic, R, On (m, n)-regular seigroup Publication de L'institut mathematique 18 (32) (1975), 107–110.
- Q. Mushtaq and M.Khan, Ideals in left almost semigroup, arXiv:0904. 1635v1[math.GR] 2 (2009), 1–6.
- [10] I. Rehman, N. Yaqoob and S. Nawaz, Hyperideals and hypersystems in LAhyperrings, Songklanakarin Journal of Science and Technology 39 (5) (2017) 651–657.
- [11] M. Sarwar (Kamran), Conditions for LA-semigroup to resemble associative structures, PhD thesis, Quaid-i-Azam University, 1993.
- [12] M. Shabir and S. Naz, Pure spetrum of an AG-groupoid with left identity and zero, World Applied Sciences Journal 17 (2012),1759–1768.
- [13] T. Shah, I. Rehman and R. Chinram, On M-system in ordered AG-groupoids, Far East Journal of Mathematical Science 47 (2010), 13–21
- [14] N. Yaqoob and M. Aslam, Prime (m,n) bi-hyperideals in-semihypergroups, Applied Mathematics and Information Sciences 8 (5) (2014) 2243–2249.
- [15] N. Yaqoob, M. Aslam, B. Davvaz and A.B. Saeid, On rough (m,n) bi-hyperideals in -semihypergroups, UPB Scientific Bulletin, Series A: Applied Mathematics and Physics, 75 (1) (2013) 119–128

Thiti Gaketem Department of Mathematics School of Science, University of Phayao Phayao, 56000, Thailand. *E-mail*: newtonisaac41@yahoo.com